ONG Q&A test 10-12-03

1. the 2nd most comon presentation of twin pregnancy is:

a) cephalic-cephalic

b) cephalic-breech

c) breech-breech

d) transverse-breech

e) none-of-the-above

2. The most significant single factor of fetal mortality in twins is:

a) hydramnios

b) hypertensive toxaemia

c) fetal abnormalities

d) premature labour

e) transplacental hemorrhage

3. In Singapore, still compromises what percentage of perinatal deaths

a) 2%

b) 10%

c) 50%

d) 90%

e) 98%

4. Which of the following is a feature of fe-deficiency anemnia in pregnancy

a) Drop in MCHC and MCC

b) MCV increase

c) Transfuse if below 9g/dl

d) Secondary to chronic blood

e) ???

5. What is not true of iron-deficiency?

a) Elevated ferritin levels

b) Total iron < 50%

c) Increased TIBC

d) Hb < 10g/dl

e) HCT < 35%

6. Risk factor for PPH

a) Twin pregnancy

b) Polyhydramnios

c) Prolonged labour

d) All of the above

e) None of the above

7. Which of the following is not true of twin pregnancies

a) Increased in patients treated with bromocriptine

b) Increased in patients treated with LH/FSH

c) Increased with advanced maternal age

d) Uniovular incidence is same worldwide

e) All the above is true

8. Which of the following is the least support of the uterus?
a. round
b. cardinal
c. tranverse cervical
d. pubocervical
e. ?

9. Cystocele
a. is more common in parous women
b. best way of treatment is vaginal hysterectomy
c. usually associated with stress incontinence
d. none of the above
e. all of the above


10. what is atypical of genital prolapse?
a. backache, worse in the morning
b. stress incontinence
c. urge incontinence
d. lump in the vagina
e. ?
PS: there were 20 questions, could only get half of them… apologies…

